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LEE  |mES 9 355 2,671 EET R 126 7,864 7,350
JtEE RS 9 355 2671|[EBEMS 50
dtiEE JLESEL 4 33 2474EEEMS 5
tiEE JLESEL 4 33 2,474|| L EBHE 1L =R 3 831 4,606 255 410
tiEE #LI% 8 2,379 3,540(|ALiR T ERT R 336 621 0 212 568| FRmA BRBSFE L 2— 3L 3,490 2,904 867 1,584
tiEE FLIR 8 2,379 3,540|/TRIERR 28 6,643 3,402 1,218 2048 LIEETREIRFRE 2 — D] 871 2,904 612 864
tiEE #LI% 8 2,379 3,540 —%) LB EME 7 2,823 484 612 1,584| EEHARM - A B 2R BN AL 1,438 2,662 867 1,452
tiEE %®i& 20 196 4,306)|— Mt FE AN EHEMS 1 3,671 3,465 969 1,704
tiEE %i& 20 196 4,306|| BN EFEERR 11 502 497
tiEE FEREIR 6 172 1,357 EMS 8 60 40| EIRFEEI A B — A 1,562 708 539 759
tiEE FBR 5 205 2,340 ENMTHERE-KBRFEVS— | AW 9,016 3,943 1,933 3,140
tiEE FazZEs 9 149 2,562 5 RIRTEMS 27 0 ERRTRESFEE E— A 1,869 1,464 306 396
tiEE FZH 9 149 2562| =& HEMSR 2 537 3,767 1,248 1,752
tiEE FazZEs 9 149 2,562||EME M ERMR 2 1,997 6,762 2,472 3,456
tiEE 24N 10 97 2,162 A ERS 11 1,201 3,416 1,224 1,680
tiEE FZEEN 10 97 2,162||E R ERTR 5 238 0 0 0
tiEE JeZEHn 5 30 1,067|F ) Effi= 14 862 3,388 1,224 1,728
tiEE ERH 5 39 2,183|= REFERMR 1 4,897 5,808 540 2,304
tiEE iR 10 378 4,238 (—#1) fB)IIH ERT R 107 17,882 1,095 147 261
tiEE iR 10 378 4,238( £ )11 B R 8 252 432
tiEE ESIE4= 8 59 4,197|| L)L S ERS 15 181 0 0 592
tiEE B 8 42 3,446( B 85 10 17 108
dtisE |4 10 204 5,542||Z IR EEE 9 725 560[#EETAENE ARt 4 — 23 2877 2,240 388 1,512
tiEE ] 10 204 5,542|[#8 EERR 7 858 160 472
tiEE +5 19 330 10,828 /AT ERS 55 4,736 482 104 1,264
tiEE +5 19 330 10,828||+ I ERTR 11 5,015 3,388 510 720
tiEE filF:3 7 219 5,997|(#IB% T EhHi= 32 13,862 2,916 612 1,917| T RERRE S — s 2,973 4,380 0 0
JtEE RE 5 71 3,553|1R =5 = B ERR 6 36
EHRE B 5 288 1477 BEFTEMS 35 1,179 2,330 285 B[ FHTRR/ LI — A 4,740 726 153 216
EHRE e 23iube 8 268 1,598)|(—#1) BARTHERR 32 1,235 384[EhRTTH R B HRAT 3L 4,211 844 179 682
EHRE e 23iube 8 268 1,598[FI R EME 9 338 312
BEHRE J\F g 8 304 1,347\ F i Effis 6 353 530 0 34|/ \FHk B R SFZHRN N 10,622 976 204 770
BEHRE 7oL A ithig 6 116 1,753|[F It B Effis 6 534 168
EHRE E+=ithig 8 163 2,055 L+ =EEFR 45 1,771 1,144
EHRE Tobihig 5 65 1,415 D FIL EME 19 9 0 0 213
EFR BREERE 8 458 3,642 ERR 121 6,216 0 0 576
EFR BREERE 8 458 3,642 BETRESELEN s 505 1,210 255 360
EFR BREERE 8 458 3642 EFHEILEMS 37 3,235 0 208 504
EFR BREERE 8 458 3,642/ KA ERTR 31 1,108 0 0 576
EFR EFPEERE 4 214 2,763||fEETHERMR 50 3,043 0 0 1,288
EFR EFPEERE 4 214 2,763t EERIR 49 2,279 0 0 504
EFR EFPEERE 4 214 2,763 @ EF i ERTR 10 832 0 0 560
EFR BIERE 2 126 1,173 BN & 7 I8 K B BB A 618 0 0 396
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EF8 BIERE 2 126 1,173 BN &7 ISR B A 254 613 128 173
EFR MEERE 2 116 1,320 —BAH EfS 33 546 804 0 0
EFR MEERE 2 116 1,320 —BAH EfS 52 3918 0 0 1,752
EFR SALEFRE 3 56 889|| KA ERTR 26 1,020 0 0 584
EFR ERERE 2 41 641 EREMR 17 677 0 0 560
EF8 EHERE 4 73 2,670 EamABRB2HRM s 517 0 0 552
EFR AERE 4 53 1,077 A ERS 13 430 0 0 504
EFR —_FERE 4 49 1,100| = F Effi& 18 1,128 0 0 568
=R = 14 1,507 1,648[|ll & HEMS 87
=R = 14 1,507 1,648)&BHEMS 22
=R = 14 1,507 1,648||EEEEMS 18
=R = 14 1,507 1,648|| 21 =R 36
=R = 14 1,507 1,648 WEHasEtEs 59— oA
=EHE (= 14 1,507 1,648 eSS B2EN NIL
=R = 14 1,507 1,648 WETREKBIELARESER (a3
=R = 14 1,507 1,648 wamREER NG
=R = 14 1,507 1,648 ZRHAEREREL S — N
=R = 14 1,507 1,648 EEHEKAREZHEEVS— s
=R ) 9 164 1,551||[B A ERS 17
=R ) 9 164 1,551(| A ETEMS 11
=R ) 9 164 1,551(|5E HEBERS 28
=R ) 9 164 1,551 ERENHaE L2 — s 424 665
=R K- ER 6 257 2,328[| KT EAS 37
=R K- ER 6 257 2,328||MERERR 20
=R K- ER 6 257 2,328|ji= A AR ERT R 13
=R K- ER 6 257 2,328|ER T ERR 32
=R K- ER 6 257 2,328 ABHEEEE L S2— s
=R RE-BXK-RUWE 6 330 1,753 B & ERS 88
=R RE-BXK-RUWE 6 330 1,753|| Rk E BB ERT S 1
=R RE-BXK-RUWE 6 330 1,753 & KBS 22
=R RE-BXK-RUWE 6 330 1,753|| Sl BT ERR 21
=R - BXK-RUWE 6 330 1,753 LETREaEL 42— N3
FEHE AEE-EAERE 3 99 1,822 AETREREEL2— i 2,023 729 204 710
AR AEE-EAERE 3 99 1,822 — Mt FEANEATEAREMS 10 697 726 153 468
FEHE LRk ERE 2 30 1,409\ 5 E=Ef 12 425 246 119 167
AR BERILAERE 4 72 1191[|BER T ILAERERT R 30 281 0 0 414
- Py

MER RERILAERE 4 72 1,191 ‘(ﬁ%‘c@?ﬁé@é&é&ﬁ&\ﬂf;ﬁ%) 4 1,707 0 0 156
AR FEED 7 379 1,695(|FKEH T EMS 22 146 0 0 420
MEER  |@RAE-HE 2 95 1451 ?ifgf_ﬁﬂﬁfgff@’ﬁ AT 0 0 0 0
FEHE HFIRE- (AT 2 95 1451 FHEMS 10 0 0 0 0
FUEHE BFEERE 1 83 693|[#&F T Eh= 34 147 0 0 183
g2 Al 14 523 2,619l LI EAS 16 646 476 560| LI Tk B R B2 AT R 8,247 968 204 848
g2 Al 14 523 2619 REMEAIUBEMS 45 2,025 776| ¥ LT ik H 28R 3L 241 0 0 414
g2 Al 14 523 2,619||FRIT i Fa# LB ERT R 51 2,120 0 0 576| FAR M 4A H 228 s 552 0 0 420
R Al 14 523 2,619 LA L X ERTR 9 986 560
g2 &t 8 68 1,803 TR E K B 2B INIL 914 610 128 490
WizR BB 8 197 2,495 KR BRME - KB 2HRA s 1,224 610 0 504
W2 EB 8 197 2,495 ElICEIS N3 INIL 561 0 0 552
W2 EB 8 197 2,495 EHAEBKBLEN INIL 464 0 0 560
Wiz EA 5 257 2,405 BB A B RS AT N 1,046 319 64 564
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Wz ERN 5 257 2,405) SEETA B 2R N 1,933 0 0 438
=R 2k 8 458 1,753 EHEMS 168 0 0 576
EER B 8 458 1,753 EETRESFDE N 7,799 3,146 663 936
=R 23k 8 458 1,753||FEERMS 38 1,745 0 0 568
=R 2 8 458 1,753|| REZEERMS 40 4,055 0 0 920
=R B 12 512 2,406||BRLLEERT 136 8,614 0 0 560
‘EE |Ag 12 512 2,406 BLHHR - BESFEES NI 5743 732 150 767
=R B 12 512 2406|EH EMS 30 1,331 0 0 584
BER |Bdg 12 512 24065 ) BB EES 12 824 0 0 504
BER |Bdg 12 512 2,406][ Bt it 77 R S AR AL 194 523 0 0|
EER B 12 512 2,406 BEIAKBRERRIZE N 927 484 128 412
=R B 9 137 1,233|| A =S 27 950 0 0 560
=R B 9 137 1,233 B BBEAFER 10 952 0 0 568
=R REZ-HF 17 250 5420| RiFENEME 64 4,290 0 0 1,208
=R REZ-FF 17 250 5420|EZ HEMR 18 769 0 0 528
=R REZ-HF 17 250 5,420|(f ;B EREATS 14 969 0 0 552
#EE  |sE-@msiE 17 250 5,420][ SRENTRESRE S— NI 1,583 968 204 320)
BER |sEF-MeF 17 250 5420[EE 2 MEHS 10 389 0 0 389
=R X 12 115 1,739|[48 F AR E A= 35 3,164 0 0 525
=R LbhE 1 327 1,232 vhEHERR 98 7,654 0 0 3,189
=R LhEF 1 327 1,232) LWhETik B RESFZ BN AL 968 726 196 679
RPE KE 6 453 910] KEMKkHEER R EN AL 6,984 732 159 604
RPE KE 6 453 910[[SE T EfS 23 607 0 0 168 | T I fRkR 331 439 486 0 408
RPE 3L 3 238 606[| B I EATS 23 547 426| Ak B R2ERM N 444 426
ZHE |83 3 238 606|2 BEMS 8 248 0 0 364
RPE 3L 3 238 606(|Z BEMS 13 656 560
RPE BEXH -V LHLEH 6 347 1,282 EEAAEMS 11 1,224 0 0 511
RPE HEEXE-UVbEH 6 347 1,282) Vi=bigh ik B REZ B N 2,390 153 630
RPE BEXH -V LHLEH 6 347 1,282|| AR E E RS 7 884 0 0 210
RPE BEXH -V LHLEH 6 347 1,282|| AR E E RS 17 1,168 243
RPE BEXH -V LHLEH 6 347 1,282|| AR E E RS 7 1,110 0 0 248
RPE HEEXE-UVbEH 6 347 1,282| /K BRERTS 3 470 3,374 1,248 1,728
RPE 1T 5 264 754||EE S EMS 18 1,282 504 |EIETRE/NER DS BN v 963 726 153 216
FWE BT 5 264 754K B E TS B E X &6 3 1117 0 0 483
ZWE | 5 264 754 B EETS 15 3336 0 0 525| B TR AR R M BB AL 54— | A8
RPE 1T 5 264 754||EE S EMS 9 945 504
RPE +E 3 252 495+ EMS 34 2,576 0 0 876| L AmIAE R EM 3 734 294 153 651
RPE KIE 3 359 487 BERThRBEERSE L 2 — R 511 3,751 1,128 1,728
RPE KIE 3 359 487K IEHEME 60 3,332 1,008
RPE WE-BTIE 9 457 656|[R 7 G T ERT R 32 2,466 0 0 576
RPE WE-BTIE 9 457 656|_ DRELEERBRERIZEN |RE 790 3,856 816 1,752
ZHE  |RE-BTE 9 457 656|[4F ATELS 22 1,039 210
ZHE  |BRE-BTE 9 457 656|[ R EMS S5 M T A E SR 11 1,049 497
ZHE  |BRE-BTE 9 457 656|fRBIELTS 2 136
FWE  |BRE-BYE 9 457 656|fRBIELTS 18 812 0 0 497
KRG - TE 5 249 591[lfEE T =S 26 1,981 0 0 504
KRG - TE 5 249 591|| BB EATS 17 743 420
KRG - TE 5 249 591 AAETREARE —REELHEA [ 122 32
KRG - TE 5 249 591(| BB EAT R 4k 2 &R 14 331 504
PG AR 4 221 316[|= HERS 13 652 0 0 147
WAE  |FHREEHRE 1 515 He||FHEHEMS FHEHERBK Biﬁz.h u/ﬁﬁﬁ NG 8,013 2,772 587 1,643
WAE  |EAERE 1 92 490 L BME BT ES 6 560| B BHRABRER 238 1,361 279 153 630)
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HAR ArXERE 1 76 1,449|| LEE AT EMS AXTIKARBIELEEMR AL 558 646
HAR FEERE 5 136 564(|F BER T EMR 23 576| BTk B RE 2B EM A 2,929 726 153 720
WAE  |fFAERE 2 192 392 FHEBTEMS 21 560 AR 2Bt 42— N3 3216 729 153 852
HAR |AREERE 2 39 367|[EBAEHS 18 978 568
HAR ERERE 4 114 543(iE BB ERTR 43 3,697 432[ BB IR ERLRE N 112 130
HAR BEERE 3 210 1.319|[FR B A EERT & 62 6,357 BEMRRESBZRENR A3 1,068 607 128 178
HAR MNUERE 4 281 331|/h Lt REAR 6 3,854 NN REEAE S BERM A 2,663 732 153 700
HAR MEERE 1 142 177|| R AT ERR BRHKEHEESBZEN A3 867 5,040
HAR mEERE 1 114 356|[{EEF T EhT= B HERSHRETAD REAR2BRE [T 4,409 732 153 630)
HER AR 1 329 312llaE T =S 231 15,775 0 0 504| ATE T R SRS BT D) 2,839 729 150 216
BER il -=f 2 424 735\ & I EET S 174 14,311 0 0 648| BT R A B RS EN A 4,967 605 153 429
HER R 2 152 483 E T ERS 89 4,674 0 0 648| LT EMS T T ARESRSEN 500 720 150 0
HER FEE 2 246 165||F S E K =S 91 3,439 0 0 720 g;%@%%giﬁfﬁ
BER AH-fEH® 7 398 369l KA EMS 102 576| KA ™ A RESFZHRA NS 420 726 153 0
HER B3 3 109 289|[i%% )R ERT R 43 4,889 576[%)IRERERE SRR |21 491 726 153 216
HER e 4 65 477|[FEE 2 HEMS 45 4,369 0 0 2,196
BER = i 4 66 EETHEREMS ERTHEREMSABZEN | A% 0 0 0 0
BER il -=h 1 424 735|R P EMS 17 1,832 BRERRE. IEHRER R
BER EE 6 50 1.278|EZMEMS 18 2,104 1,576
HER A 5 75 1,766(;BHFIIEERR 7 1,159 350[BHEFIREMRKBREAB L 52— 225 140
BEE | AKH-EH 7 398 36o|[fEM TR L BEMS 67 0 0 1,609| BT R R BDER 3L 0 0 0 0
HER S -=h 1 424 735\ B SRR ERT S 35 1,214
BER SvE 1 1,332 217[EFERS 51 1,465 0 0 1,344 ;EAK B R B2 RM A 6,588 726 153 720
BER SvE 1 1,332 21| K EEMS 22 104 0 0 1,136 KEKRBRESE LV 5— A 6,424 2916 612 1,349
BER SvE 1 1,332 2 7EN-EH S HFEMS 10 500 0 0 288| SEHAH R BEERM A 2,476 0 150 654
BER SvE 1 1,332 217 EHERS 24 2,908 0 0 560 AWK B RESELRERM A 179 0 0 210
BER B 5 528 171|[IBEHERS 37 2,879 0 0 1,008| B B REZ RN N 187 726 0 0
BER BR 5 528 171|| L EHERR 4 44 0 0 426| EETMFARME KRB 2B 2R |2 1,102 486 0 426
BER B 5 528 171 BRI BT EMS 78 5,381 504
BER IR A 14 792 626)) 1T EMS 65 1,249 504) )|l R REA B BT A 1,609 605 128 576
BEE |tk 14 792 626|[lL R EETS 18 1,092 168
HER JI#st 14 792 626[RF I~ SERMR 6 71 0 0 123RFEy SEMSIA B 2BZRERT | A8 2,873 0 9 648
BER BN 7 502 110||FRARERTR (5D 7 315 RABEMS KM 481
BER BN 7 502 10| IR ARERR (EFRD 2 193
BA R i X EEAT R

BER AR 7 502 10| Capzer . mokrm . e, SREETR) 121 2,587 396
HER B4 7 469 562||AE R EHMEMR 33 644 0 0 183|AEEH R EBEMSTAETHKERBDHET | 1,407 98 0 639
HER B4 7 469 562 RN FEEMS 9 208 234| FABREMRABBRACELRMBHRR [N 2,432 102 560
BER 41 7 469 562 HEATIRE - AR BB (RE - NRE) [T 1,391 605 128 606
BER B4 7 469 562 REATKA - RESBDHRN &R A3 112 0 0 213
BER ik 5 769 406||FTiR T ERTR 157 5,379 0 8 568[FTRMH RER 2 — s 26 2,049 689 867
BHEE  |fEE 5 769 406|[ AR R EETS (AR, £ 2 LAT) 14 236 0 0 66
BHER  |fE 5 769 406|| AR X EBTS (ARATH) 7 2,907 1,008| AR R BT A 156 285 153 183
BEE iR 5 769 406|[ SR AL X E RS ST AR B - RIS | RAS 370 480 102 495
BES @R 5 769 406|[ RUTaBt 85— NI 271 465 576
BES @i 3 308 85| E B EMS 7 198 497|FHAR - FARMAEDER (48 1,231 729 497
BHER @ 3 808 85| FHMKE -FERMIABLER (A7 0 0 0
BER ki 3 808 5[ O ES 213 8,174 0 0 504[)IlO0mCELRBEHRA .VHFJT s 2,257 847 230 324/
BHEE  [FIR 9 1,160 473|EETEmS 1 294 0 0 210
BEER 4R 9 1,160 473 AETHBERESEZER AL 1,593 0 0 420
BHERE  [FR 9 1,160 413|[EETEMS 2 524 355
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FHEER 2 ammo| tkR0R| 8108 FHEER | zapmo | tEa0R| 8- RORS
i) SER (B E?ﬁﬂ%faﬁ ﬁﬁfﬂj(iﬁ ﬁﬁfﬂj(iﬁ R XL/ AR/ (MBS ggﬁﬁﬁa&] ﬁﬂ%ﬁa’j(ﬁ ﬁFEE]EEFEﬁﬁ
EfRA HEEA% prae (FMEEH) | MEsD | B&RD R B (& | MERD &)
N (B5RE) (B5RE) (B5FE) e (R (BRE) (BRE)
BER FIR 9 1,160 473|[AL B L &8 7 1,003 0 0 216
BHEE  [FIAR 9 1,160 473|[ 4t B EEEHS (BT 2 1,704 630
BHEE  |FIE 9 1,160 473 B EEES CRER) 25 1,028 576
BER FIR 9 1,160 AT3|[ITHHERR 10 2,199 0 0 546
BER AR 7 1,155 249||F B ST ELMS 101 5316 0 0 1,206 F A/ NERSRMEEDSHRAT | A% 381 726 0 0
BER AR 7 1,155 249|[ZE /B ERS 63 5,993 26| EMHFELRFRAEIV=VY |5 2,767 726 208 284
BER AR 7 1,155 249 J\EATISLIR B RS AR A N 284 0 0 280
BER AR 7 1,155 249\ R ERR 54 2,698 0 0 168| AT RESBZHEN N 1,521 726 162 207
BER AR 7 1,155 249|| =B ERR 11 315 456 100 O| =T ERM R SLIK B 2T R 1,187 0 0 433
BER AR 7 1,155 249||F N IMMRERR (F)IH) 1 1,001 0 0 576
BER AR 7 1,155 249||F N IMMRERTS RAKET) 8 391 0 1 71
BER #®R 5 86 798| R BT EAT R 16 691 0 0 | R R AR Th EET & 1A H 22 R 1,081 0 0 9
FER FE 1 976 272 FEHEMS (ERD 30 221 576| [RE]FETREIL 22 E A3 9,666 1,210 306 432
FER FE 1 976 272 UABIFET KBRS ZEN A3 10,563 504
FER REMA 6 1,797 2541 BEHFHEMS 37 1,923 576| BE BT AR RN IA3L 649 726 153 216
L ERET IR C o A (RN
FER B 6 1,797 254||/\=F1’<Fﬁl’£Eﬂi% 100 4,266 2,016 f%Eﬂjc—*?MﬂE/\%ﬁEﬁt‘/ =55 3,921 1,210 255 360,
FER BB 6 1,797 254|ﬂ'ﬁ%§ﬁ5|§&ﬂi§ 188 2,727 0 0 576|AtE TR EIK B 2R HRAM N 3,138 968 306 1,008
FER BB 6 1,797 254 TSRS D] 5,706 1,286 628 3,792
FELE [HEEH 6 1,797 254)( AR ARDEN NI 1,014 738 144 710)
FER BB 6 1,797 254 ARTARBRSEER SRR 33L 155 0 0 213
FER REILE 5 1414 358flIFHEMS 179 1,854 0 0 462[ P RENER B 59— 33L 4,499 1,245 250 330
FER REILE 5 1,414 358(HH ERS 91 14,027 3,388 714 1,584 T EFR > 2— NS 467 332 70 104
FER REILE 5 1,414 358 BRrFhikB 2R N 687 0 0 497
FER ENfg 9 714 692(ENEH A =S (kR THAA LEE) 60 1,582 0 0 192|{EB ik BB RE RN 33L 73 0 0 216
FER ENfg 9 714 692] FNigETER/NEE SR R 33L 3,585 2,663 561 1,376
FER ENhg 9 714 692 REATEFZRAN IN3L 2,706 984 204 748|
FER ENhg 9 714 692] mEHE TR B R SRE R IN3L 0 0 0 280
FER FIUERE 7 255 T17||ERE T EM S 21 268 0 0 216
FER FIUERE 7 255 T17(|— A4t EE A F i EER 21 1,550 576
FER FIUERE 7 255 T17(|7B R B E A 20 2,232 620
FER WHEERRE 17 402 1,162/l R AR T EE AR 46 4,168 2,058| LK BB SRR D] 314 484 102 144
FER WHEERRE 17 402 1,162 R REEEMS 41 4,433 560 RAMTRE L A —RESRSHER 25T 496 726 153 216
FER WHEERRE 17 402 1,162|| RIBEAMS 3 798 0 0 1,664
FER RE 4 116 576| R EEMS 7 226 0 0 34| REMHERHEDRZHR 33L 1,068 726 153 216
FER Bz 4 322 758|| B EAEZEMS 80 12,803 0 2,351 | R SRR D] 2,046 3,402 714 994
FRE TR ] 266 368\ A H EEf& 75 5094 0 0 576|RMRE Y 5— ;) 3042 729 153 792
R X RER 5 951 64| TR AR ER R HEMS 12 337 0 0 96| FH BRI B IS 2R (FREERFN) |8 385 0 0 936
- R T EICA=E N

Pyt Erh A 5 951 64|| ;%%gg’?éiﬁggégﬁ ! R 137 723 0 0
I EE 5 951 64|V B EETS 55 2,711 0 0 93| ZEXRCELRA N 342 723 0 0
HRE KR 5 951 6l XERELMS 42 1,815 0 0 936
HEH  |KoRE 5 951 64— MU FEATAEHS 21 541 0 0 962| BERERM - hECELYU=wY (A 716 723 150 939
HRE KR 5 951 64| NI FEAZEERS 28 909 0 0 962
R X ch R &R 5 951 64| FRAEGREER NG] 77 20 596
HEHR  |RepREp 5 951 64| BABKEG2ZEM NG] 436 250 936
R X ch R &R 5 951 64| hRE GBS RSB NG] 292 230 884
FRAD X R & 5 951 64| DR mERERNRREERt 5 R 967 726
HEH  |KoRE 5 951 64| BREMS (EELEH) 55 2,779 0 0 1431 |AEEFELRBDRE R/ 1,459 726 255 0
RE# | X7 3 1,276 68]] PREREMERERRLVS— |RME 957 0 255 936
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CACRIFH  LIE R KA E O

Byt XFEER 3 1,276 68, Hg(IEI_LEW‘EHE)PntJG Sl AN 552 726 204 0
Eytid XFEER 3 1,276 68| B R EfS 79 8,906 0 0 3,456 ﬁ;if;ghﬂ%ﬁ‘*%ﬁ BREE R 405 726 153 216
AR X 3 1,276 68|14 it X Ehis 4 2,152 0 0 576| &2 X 1k B SR ESHZ BN s 3,341 726 255 936
AR XA 3 1,488 107'IF IR ERR 165 7,860 584
R XA 3 1,488 107 IR XEMSMREN - KB 2RDRT |8 3,892 2,169 459 657
AR XEE 3 1,488 107 IRXEMRENAESRZEN |28 1,180 0 204 876
R XA 3 1,488 107 IRRRAERREVA—HBRRSHRF |8 933 0 204 876
AR XEE 3 1,488 107 IRRFEERECELIY=vY A 323 723 0 0
R XA 3 1,488 107|| 2 H R EMS (ERNE BREERZR) 17 371 0 0 416| EARKBIE22EN NIL 1,050 0 0 936
AR XEE 3 1,488 107] THEEABRBBEIELII=v) (28 218 726 0 0
R XEEs 2 1,161 85| || X ERfis 13 991 0 0 584| &) I| X ERT 24K B B2 R 808 0 130 949
AR XEEs 2 1,161 85) HEREMS K EZEM R 821 0 0 949
AR XEEs 2 1,161 85) RINRCELREHRAE A 433 723 120 0
AR AR 2 1,161 85 AFEMS RN R 2,412 0 255 828
AR XEEs 2 1,161 85 B ERT R 2T R 1,059 0 0 828
AR XEEs 2 1,161 85) SEHEMS SR R 2,465 0 255 828
AR XEEs 2 1,161 85 KARFELEARBBAE R 723 723 0 0
AR X R ED 3 1,465 88 REEEE A ) 695 0 153 864
R XA 3 1,465 88 LADIELHAE D] 268 726 153 216
R X R ED 3 1,465 88 RIPRZER L I—KIBRKRER R 99 729 0 0
R XL ED 4 1,982 14|iIREXERR 54 9,153 0 0 792 *&ﬁEJZEIWFaﬁrE,‘::&:E%w:vb 3L 500 726 0 0
BE# XA 4 1,982 HfzexEms 3 49 0 0 23 824 0 255 876
mEEH XA 4 1,982 114 NG 314 0 0 511
RR# R 4 1,982 1 14|| aﬁ%ﬁ; raﬂfmﬁﬁsﬁ“& R am 342 723 0 0
BRE XA 4 1,982 114 Rk B SRR 3L 910 0 0 840
et R FEIL AR 4 1,982 114" ;ﬁg;ﬁé;"fﬁ%%&@m%i R 785 666 140 0
BE# XA 4 1,982 4 — B AEAGEREMS 6 2,920 0 0 720\ Bk B R EDER R 1,561 0 204 714
BRE XA 4 1,982 114 BEXREBEIELYY=YY ERS 1,430 726 204 288
R XL ED 4 1,982 114 BMFARBRBERN R 2,198 0 204 720
R RFEILE 3 1,361 98| B X EfS 45 8,322 0 0 504| I RRBGREEM A 473 125 385
R RFEILE 3 1,361 98 SRR BE22HRM A 2,039 255 792
R XEALE 3 1,361 98 FREREICELY=YY A 341 605
R XEILE 3 1,361 98|71 R EfS 106 6,403 0 204 A FNEERECELII=vY KM 2,753 726 204 441
Pyt EEILE 3 1,361 98 ﬁé%gﬂéﬁﬁ%mﬁﬁaﬁﬁ 0] 2,151 426
AR RFEILE 3 1,361 98 MOBKRBISE - EREIS LB | A8 1,058 426
AR XEALE 3 1,361 98 TR BE R EM A 817 426
R RFEILE 3 1,361 98 REBKBEEERM A 641 426
R KR 3 1,361 98 ’?fgf%ﬁ?%ﬁ;g:;%ﬁ" L PN 263 726
R RFEILE 3 1,361 98| IR A F B EBET R B I X AR 76 114 1,152
R BEE 8 376 573 Biemik B REZEM INIL 4,724 726 153 936
R BEE 8 376 573 BETKRBERR 3L 229 0 0 504
R BEE 8 376 573(FFR T EMS 16 767 0 0 576| FEREEE L 5— s 87 729 153 90
R BEE 8 376 573(FR TR AT =TS 8 213 0 0 246|&%kL
R BEE 8 376 573(|lH =2 HFHEMS 23 2,275 864
R MEE 5 1,443 324||BTE T ERTS 103 10,042 3,146 969 6,872|ETHMKE - ERABIEL V) =vy| AL 3,868 726 153 792
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FHERR | zaumo| tRa0B| B-R08 FHEER | zammo| 1A 0| 8- RoBR
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R BMEE 5 1,443 324 A FEABHHEMS 3,299 568| B Erth ik B ERZHEA A 170 153 216
B |mzE 5 1,443 324 BT TEHERCELLADEN (o8 184 438
AR BMEE 5 1,443 324 BETHEMS 31 1,576 0 0 504| EETCELERSEN AL 514 726 153 216
RRE  |E%E 5 1,443 324|iEATHEMS 22 1,504 0 0 576
AR BEE 5 1,443 24N EFHEMS 158 9,036 0 0 2960 \EFHRHEBRSLHEM NI 1,122 726 153 2,116
AR L L EmEE 6 661 90 M)ITRBRB2RM A3 1,014 0 0 864
AR L L EmEE 6 661 90 ST -IIERE CELRAE A 241 726 0 0
AR L L EmEE 6 661 90| ST ERS 29 1,779 0 0 792
B | BEES 6 661 90|l EihEAS ERS 385 0 0 684
BE#E | BEAELS 6 661 90[sz kL RAMTABRRBLEN A3 432 0 0 360)
B | BEES 6 661 90|l I CECE T N 289 539
BE#E | BEAELS 6 661 w|ENFHEMS 94 1,752 504
B |k BEm 6 1,064 96| =BT S NG 1,060 0 0 576
R L L ERE 6 1,064 96) KBERDEM A 0 0 0 0
RR# | EEE 6 1,064 96 "‘_'i%;“;ﬁjiﬁfw PRI | 147 726 0 0
R L2 EmE 6 1,064 96) FRfREr 42— N3 2,035 726 153 684
BE#E | BERS 6 1,064 o6|fEATHEMS 126 4,496 504 BAAMTIA D RAARBDER I 206 0 153 216
BRI BEm 6 1,064 96| BITKEG2ZEN AL 701 0 0 432
BRI BEm 6 1,064 96| LB DR E T AERMBRE | AT 191 726 0 726
R L L ERE 6 1,064 96/ — ARt FiE AN BB H HEMS 68 17,491 3,388 1,224 1,728
AR I ZELE 5 750 77 — R EEANNERERRERZRN| A 2,642 726 153 798
R L EELE 5 750 77, BT B ERIS 2B AL 74 0 0 355
AHPFEEAN RRBREERL
i BELHEREL2—
FRAD L ELER 5 750 T|[FRETES 17 1,053 0 0 1,656 X ERAILT, BREH, RABK |2 446 726 0 0
. BEETICTHRREED/NRH
M Ex
E%a&kﬁl AR krKBER
Eytid LR 5 750 77 XEAWT, BREH, RARX |RME 110 429 0 0
. BETICTHREEE D/
M Ex
DNEUEEA RREHBRBERL
#t SELHMERELE—
Pyt L EELE 5 750 TI||— Rt EE AN RA B KT EER 7 770 0 0 568| % AL, FEREAET., RAZXK |2 446 726 0 0
. EEMICTHREED/NEY
HMaEx
E%a&kﬁl AR krBER
Eytid LR 5 750 TI||— Rt FEANRAB R ERMR 2 366 0 0 360[XERATILT, FREM. RAEX (R 110 429 0 0
. BEETICTHREED/NRH
M Ex
R L EELE 5 750 TI||FERE T EMR 1,076 864
R L EELE 5 750 77, SELBERL S— R 49 726
HHR JtZELE 5 750 77, 1 R E R R 86 429
#WENE |HET 1 3,768 437 WETRERREV Y — A3L 11,716 968 204 288
#WR)E |#EH 1 3,768 437 WETLRBRESRE S — A 4,419 968 204 288
#WENE |HET 1 3,768 437 WETEENRESRE S — A 3,057 968 204 288
#WENE |HET 1 3,768 437 BRXAAZEBZEN A 1,160 0 0 426
#WR)E |#EH 1 3,768 437 HENIRKBREZER A 1,362 0 0 426
LEIN L P 1 3,768 437, XA DELRM A 1,081 0 0 426
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#WENE T 1 3,768 437 FRAESBDEN A 1,134 0 0 426
LI BT 1 3,768 437 ARKBRELEN A 1,464 0 0 426
#WENE T 1 3,768 437, BRERABREBZEMN A 1,635 0 0 426
#WENE B 1 3,768 437 REITBRAKB2BZHEMN A 451 0 0 426
LI BT 1 3,768 437, TBRXRKB R BZEM A 1,414 0 0 426
&) “Eﬁi 1 3,768 437, ﬁ&?EWEl.h BEERM A 2,388 0 0 426
#WENE T 1 3,768 437 2RRARBREZHEMN A 1,189 0 0 426
&) B 1 3,768 437, ,%:ml:{*El.h BEERM A 1,297 0 0 426
#WENE |HET 1 3,768 437 BREKAR ,M/%Fﬁ A 837 0 0 426
LEIN L P 1 3,768 437, BERKAR f :vl 1,944 0 0 426
LEIN L P 1 3,768 437, %‘Kml:WEl.h b.“) A 2,132 0 0 426
#WENE |HET 1 3,768 437, FERABREBZHEM A 1,406 0 0 426
EIN L P 1 3,768 437, KRB BEM A 890 0 0 426
#WENE |HET 1 3,768 437 RERAKB2ELHEM NS 1,299 0 0 426
#WENE |HET 1 3,768 437 FARKBREBLEMN A 1,004 0 0 426
ARG |)IGEE 3 666 65 NI IR B 2B 2R A 612 0 0 396
ARG |)IGEE 3 666 65 NBTHERB LBZHRA A 581 0 0 396
ARG |)IGEE 3 666 65 N R RIAB 2 B2RN A 1,329 0 0 396
LEINT R4 4 873 79 N EZAB2B2RM A 560 0 0 396
LE IR 4: 4 873 79 JIBTHERAB 2 B2RM A 1,262 0 0 396
ARG s 4 873 79 NETZERBRESEZEM | A% 4,216 2,662 561 1,188
IR 4 873 79 NS RRER B 2 B2RM A 1,125 0 0 396
&N j”E?EgE 7 1,539 144|)IETH EER R 146 1,189 0 0 576
#WENE |EER 3 725 29| EER T EMR 14 266 726 153 0
#WENE |EER 3 725 329 TR RAT DB A—BRB R | A8 13,871 2,420 663 1,512
#WENE |EER 3 725 329 HEEREAT I L A—RRDHRA |8 6,331 726 153 1,008
#HR)IE |EEE-=E 5 682 205 HEEREAT NI L A—BRDHRA | A8 435 0 0 720
wHE)IE [HmrEa 5 579 253 BAETRAERtL 52— NI 24,908 968 357 1,192
AR |WEE-=F 5 682 205 FiEHKE RS BLHEM Nva 10,018 968 204 684
AR |WEE-=F 5 682 205 BETEMSAKBREASEDER |28 1,730 968 255 864
LI E 3 734 19|BRR T ERR 58 1,661 0 0 568
LI E 3 734 119 BRRMEMSEAE - RRESBSHRT |8 1,504 0 250 864
LI E S 3 734 119 FRMEMSILAE - RRESBSHRT |8 9,928 729 675 1,476
#WENE |BA 10 333 635 NEETK B - RESEZEM A 6,397 726 204 684
LI E S 3 734 119) FrigmtigERE 42— A 2,337 726 153 864
wWENE |HEE-=E 5 682 205 EEMEERt I A 2,015 726 153 720
#HR)IE |EEE-=E 5 682 205|| =R EEFR 9 289 2,016 0 0
HWENIE | HEETEER 5 579 253 EHmAREEBSBZEN A 5,392 726 153 720
#E)IE |BR 7 861 293 AATEER 5k BRRABBRN | AT 3,585 726 153 642
HWENIE | HEETEER 5 579 253 KRERERBLEN 3L 3,025 786 165 594
#E)IE |BR 7 861 293 (—#t) BEEMEMSEEEMARDRT |8 1,152 546 102 648
#RNE |BR 7 861 293[R EER 1 211 0 0 432
#RNE |BR 7 861 293 ERThB2E L S—(RED A 1,428 725 204 720
#RNE |BR 7 861 293 ERmARBRE L I— D A 332 0 0 432
#WENE |BR 7 861 293 EEIKB 2R A 747 0 0 639
HWENE | HEETEED 5 579 253(| P EBERS 23
#R)IE |EFE 10 333 635 W LRAB 2 BERN R 1,017 0 0 426
#WENE |BA 10 333 635(/N AR EAS 6 106 0 6 312
#WENE |BA 10 333 635(\/1\ AR = A 2 35501 R BE 15 649 196 2,830 576
#HR)E |BEx 7 861 293(|EREEILE )X AR 7 654 0 0 305
HBE | T 6 196 2319 A EREMS 11 291 0 0 204
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EfRA BRI prae (FMEE) | Mash &) ® R BER) (& | MERD i)
(R) (B¥FE) (B¥FE) (B¥FE) ) (B5FE) (B5FE) (B5FE)
T 6 196 2,319 HETMSBZERM A3L 529 732 0 345
Tl 6 196 2,319 5 H i XA 2R A3 2,103 488 133 560
Tl 6 196 2,319 h &R K B B N 240 0 0 299
;s 4 876 2.224| R ERR 13 10 0 204 0
i85 4 876 224 ERTEERBEMS 21 1,704 723 153 483
8 4 876 2.224) FETARDEL S— A 32,411 2,916 850 1,724
8 4 876 2.224) EERRAAREEEE 5 — (A1 1,620 732 153 770
8 4 876 2.224) ARTEAERBEMSREZEN (R 259 723 0 0
CES 5 212 734 EMS 18 721 0 0 497
e 5 212 734|EHEMS 22 1,003 0 0 552
BR 5 212 734 BREMKEDZHRN s 11,494 732 150 675
i 6 422 1,728 R HEMS 6 26 0 0 210
i 6 422 1,728|| R RSB R AR E A= 13 1,150 0 0 518
i 6 422 1,728 4B TH XIH ERERT = 6 21 0 0 24
i 6 422 1,728 REK B -RESBL2HEN R 2,273 726 490
i 6 422 1,728 ERmhHIELaE 42— N 1,110 726 153
i 6 422 1,728 HBRE -REREE Y~ A 651 726 0 216
28 5 152 2,649 ABTAREREZHRE 3L 304 0 0 432
£33 5 152 2,649 + BETHEK A — R A SRt S— | A5 736 0 0 490
L 3 253 2,166] LMk A - SRR 3L 3,112 608 200 720
i 1 50 856 EEMhE 2Bt 5— A0 624 420
FINERE 4 118 925|(8A B AT =R 1 1,186 335
FINERE 4 118 925|| £ 58 ith X EEI S 20 769 576
HIERE 4 118 925 T ERTS 22 1,045 592
I ERE 4 118 925 Rt EAKE @ ERENREEEL ) [N 7 723 156 216
I ERE 4 118 925) BLFKFER(EETRELVE) (A 518 720 153 222
EILERE 5 496 1,844 I ERfiS 34| 595
EILERE 5 496 1844 BIITHESS 15 1,038 576
ELERE 5 496 1,844 B -EMSSRtU4— A 28,101 2,684 816 1,400
= ERE 3 307 550(|= R EA S 57 3,373 584
= ERE 3 307 550||5k & EAf 17 722 576
= ERE 3 307 550|587k EET S 37 2,005 576
= ERE 3 307 550) ERTRRERtE S— A 12,585 968 204 1,008
R = AR 3 127 30|/ NEER T ERR 17 700 672
iR ERE 3 127 930 MEERBSE L S— D] 2,653 729 153 710
RIINE AnEERE 4 220 776|\ME T ELS - — — — —
AIE  [AnEERE 4 220 776/ MATHES — — — — —
AR AnEERE 4 220 776|§‘é§?ﬁl§§ﬁ‘% 19 168 0 0 171
RIINE AnEERE 4 220 776 EnESRtEUS— A 5,060 854 178 875
AR AP RERE 6 725 1,432 LD DV ERFR 60 4,409 0 0 12,780
AR AP RERE 6 725 1,432| &R EMS 272 20,463 0 0 6,160
AR AP RERE 6 725 1,432) AT L BB T E AR R 46 3,397 0 0 994
AR Bl RERE 6 725 1,432 IREESFE E2— 33T 4,725 847 178 375
AR BEE P ETE AR 5 114 848|[ IV ERT R 24 532 0 0 426
AR BEE P ETE AR 5 114 848t ETERS 28 489 0 0 432
AR |eEEIEERE 4 58 1130llae S L MEERS 28 428 0 0 432
BEHE B - RAERE 4 391 SIfEFHTEME 29 938 0 0 639|EHTHRASEL R — A 1,770 0 204 739
BEHE B - RAERE 4 391 957|[RF R ELME 47 1,923 0 0 576
BEHE HHERE 2 52 1,126|(8% LU E RS 7 675 0 0 504 T e—
BHE  |EHERE 2 52 1,126 A B HERS | AHHAR2EDER N 15 0 408 568
BHE |ARERE 5 180 1,007 EBEHS 7 508 3,416 1,248 552
BHE  |ARERE 5 180 1,007[E I EMS 39 1,948 0 0 1,200 —— |
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BHE 5 180 1,007||REEME 0 0 1,152 ]
BHE 6 132 1,100[(Z &t Effis I m—— FETRBREEVS— v 1,101 0 0 258
BHE 6 132 1,100 = 75 ERE TS 0 0 450
EHE 6 132 1,100/ VEEAE 0 0 568 T —
e 7 456 1,336(| R FF T =S 0 0 10| R T EMERAER L S— ] 6,663 1,215 250 720
IS 7 456 1,336 EEEMS 3,402 700 720| (R R) /NERHRAER TS — A8 6,908 1,944 800 1,584
ET] 7 456 1,336| It EEES 972 200 720
ET] 3 129 756\ R ILBLE LTS 3,402 700 720
ET:! 3 129 56| R EMS 3,402 700 720
e 5 1,060](F /\ X BB ERT SR B AR E A= 0 0 720
WHE 12 171 1,309||= T EHEMS 0 0 720 (B EEBR) NEOHBRERES— [N 3,320 972 450 1,080
WHE 12 171 1,309|| &R B2 =R 0 0 720
WEE 12 171 1,309(| L &R BE = A 0 0 720
EHE 11 202 1517[(EAEME 1,088\ A B/MNERIBREE L 2 — ] 1,060 0 0 278
RHER 11 202 1517|/h gL iE A ERS 1,624
RHER 4 191 905|[-L AT EfS 639 LAT AR /NRRIER AL S | AT 1,134 723 150 204
RHER 4 191 905|/NEERTR 416
RHER 6 190 715(|FE & E A% - SREHEREAT = (T IREAAT) 0 0 584 | MEAMK/MNERESF S — 3L 922 484 102 144
[ 6 190 715 EMS 5,840 200 584
EHE 6 190 715|FRABEMS (FHT- B 0 0 584
EHE 6 190 15| B EMS (E+ R 0 0 438
EHFE 8 177 514) IR ch Rl 3L 4,909 3,388 1,224 1,728
EHE 8 177 514/ L FIBEMS 2,488
EHFE 14 152 1,928 SRATK B RSB B 3L 1,668 723 153 475
EHE 14 152 1,928|[(R A ELTS 0 0 584
RHER 6 1,546|| A & Effis 576
RHER 8 419 1,869(iaATH ERS 482 650 4777 IATNER - REEE SR Y5 — | A5 2,519 964 196 300
EHE 8 419 1,869 REFHEMSR 0 0 REFHRESFE L E— s 261 720 156 0
RHER 8 419 1,869|\E R ERMS 0 250 1,088
RHER 5 1,109|| KL Effis 1,712
RHER 9 525 84| REFHEMS 0 0 568| REMRMAE - B 2Kt 9— (A3 4,841 2,651 561 803
RER 9 525 834"%%&[2%% 0 0 568 g;gﬁgs’fg?ﬁéﬁjﬁ/ i 3] 3,760 2,651 561 803
EBE 9 525 834 BEERFHRBEHRE 2Rt 59— |[0M0 2,876 2,651 561 303
EHE 9 525 834|[ T =S 1,020 BB R B REDEE 23 667 504
RHE 6 1,009 TEEMS ER 217 0 0 455
Iy 212 s 2 B AR 9 791 993flix B ERIR PEL 3,388 714 1,008|IEEHARB 2R S— A3L 1,753 840
Iy 212 s 2 B AR 9 791 993 SHEL 3,388 714 1,008 /NREERFEEE— s 608 847 179 7
Iy 212 s £ B AR 9 791 993 ARF} 576
Iy 212 s £ B AR 9 791 993] E 2RMEER 520
Iy 212 sy 2 B AR A 9 791 993 EwmAR 576
Iy 212 s B B AR 9 791 993 ST EMS 0 0 5
Iy 212 s 22 B AR 9 791 993(|1 B RN EMS BHEETIKB RRZRA A3 640 0 0 335
Iy 212 s 22 B AR 9 791 993[L & ERTR LETRBES KRB RBEEN A 303 0 0 408
I 22 s 22 B AR 9 791 993(lLI R ERFS 0 0 476
Iy 212 s 22 B AR 9 791 993 T SR =S - - - - - - —
Iy 212 BRERE 11 356 1,433 AEHSEEREVY— s 669 0 0 490
Iy 212 BRERE 11 356 1,433|EEHEMS 504
Iy 212 BRERE 11 356 1,433(1E ERMEMS 432
Iy 212 BRERE 11 356 1,433||FEMEMS 504
Iy 212 BRERE 11 356 1,433|| R B BB E i 120
Iy 212 PREERE 13 362 2 454| REERS 672
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Iy 212 PRERE 13 362 2,454 REERS 34 1,808 0 0 672
I 212 PREERE 13 362 2454) BLEHRRR AL 2,686
I 212 hEERE 13 362 2454) BB E A A —ER E Bl [ 4A5T 978
I 212 PREERE 13 362 2454) EFEATES/\IBERE ERS 74
I 212 PREERE 13 362 2454) HEERZA BRLBRER  |EM 2,125
Iy 212 PRERE 13 362 2,454| MK EME 28 1,622 0 0 568
Iy 212 RREERE 5 321 1,563(|% & R ERMR 54 238 605 128 S5|HESERZARESZARTRER |28 948 288
Iy 212 RERERE 5 321 1,563 L IREAME 42 287 726 408 216| LI R UBRTRB 2R ERN |21 14 72
Iy 212 REERE 5 321 1,563 EAEME 57 3,127 2,284 753 2,160
Iy 212 B = AR 4 138 4,177, &Lk B 2B s 436 0 0 345
Iy 212 B = AR 4 138 4177|&B LT ERR 1 4 3,388 510 720
Iy 212 B = AR 4 138 4,177||REETH ERT R 1 203 1,316 0 192
Iy 212 FeBE = AR 4 138 4,177, T =ik B 2R N3 272 402
FhRE 2 BRERE 6 57 583 §g§g%§;}%{§%ﬂm 13 2,583 3,402 1,020 1,704
B2 BrERE 6 57 583\ & K EAMS (FBFE - HEFHX) KES- 5 96 1,040 1,608
B2 HEERE 1 33 62)
B2 FRERE 1 64 124/ R ERR 22 2,865 0 0 568| FRMIRERIER L S— s 1,390 968 204 288
HEE  |BREERE 8 527 946||m A EES 51 4,806 738 0 544
B2 BOERE 8 527 46| = BTHEMS 2 1,811 3,360 1,071 1,776| = ETEMS = BAT1hIL U 5—|RE 8,216 960 357 888
B2 BOERE 8 527 946|;BZEMS 160 20,869 968 306 720 BEREHREERE S — 3L 9,643 2,541 663 936
BEE | HESERE 2 103 331l BT A RS 5— A 833 3,346 1,020 1,728
B2 ELERE 2 369 634[ELTHEMS 30 1,350 0 0 120[ELtHREERE S — 3L 14,816 3,146 936 1,633
BEE  |ErERE 2 369 634[E+EHEMS o|k&Eat 0 0 80| EtETREERL Y— N 10,580 3,159 900 1,728
B2 BKERE 1 227 zes|§%&]ﬁi;‘§7}<%&ﬁ% 103 10,229 0 306 746
B2 BKERE 1 227 265(|ERERMS 7 2,293 3,524 995 1,704
B2 BEERE 1 458 1.147|§%E1FEE$EIEEE§ 208 19,136 0 306 746 BRT 2R S — s 10,537 732 153 213
B2 EARRERE 6 447 1,209(|BE:E H B 48 5,342 0 0 2,267
B2 EARRERE 6 447 1,209[FEXEAME 87 7,937 0 0 2488|EXR - BERHBHBERE A—  |A 1,397 608 598 643
B2 EARRERE 6 447 1,209\ S H T EMS 32 411 492 0 O|EHETAB2EDEM N 450 0 0 490)
B2 EARRERE 6 447 1,209 R EAE 42 2,735 0 0 576
Fidiibad PHREERE 6 460 831 INEBNI BB N 1,973 726 0 500)
B2 PHREERE 6 460 83|[RHATES 15 587 1,465 0 O|RATAKBRBERE 3L 1,405 0 0 501
B R hEREERE 6 460 831l ERATRSE L S— A 4,569 729 153 639
HEE  [LEERE 1 26 44| EEEMS OKE) 2 577 3374 714 730
HEE  [LEERE 1 26 | ERERS (BEH) 5 116 2,892 612 376
BER  |EEmE 1 26 944\ F EEF (R E - BELL) 0 0 0 0 0 ?zﬁg';;iﬁﬁ?*%%?’?”ﬁ N 0 0 0 0
B2 BEEERE 7 815 701|/ER EAS 14 1,005 0 0 442
B2 BEEERE 7 815 701(5HERBERT S 18 689 0 0 568
B2 BEEERE 7 815 701|EILERS 56 3,511 0 0 1,248
B2 BEEERE 7 815 701[EM T EMS 294 19,811 0 0 TOEMTRERSE s 9,604 2,662 765 792
il EERE 7 815 701[’E& EFRGAAETES) 24 1,102 0 0 568
ZHE EAREED 6 478 230 BMEMIKA RS EMN A 2,732 432
ZHE EAREED 6 478 230 RETEEMSKARRZEN  |EM 1,520 468
ZHE EIREED 6 478 230 SHTARBEZRR s 1,008 497
ZHE ERiLE 7 731 296 FEHTAE - FERBRSERN A3 4,478 608 153 710)
BHME B 7 731 296|| IMETHAE 2 BEERM A3 1,509 0 0 490
BHME B 7 731 296|| HEATARERBEEN NG 511 420
BHME B 7 731 296|E L EFS R ILZKED 34 374 210| RILT A B BB BB A3 524 385
BHE  |ERE 7 731 296| IR ERRSER I 677 0 0 560)
ZHME  |EiRiE 7 731 206||E L EETS (KOHD) 9 620 0 0 210
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FHERR | zaumo| tRa0B| B-R08 FHEER | zammo| 1A 0| 8- RoBR
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ZHE EIRILER 7 731 296|[EE L ERT R (3R EHT) 11 476 0 0 222
ZHE EARFEED 2 513 193|[fER T EmS 46 1,441 0 332 746 |FRR T ERSA B 2IRE R R 1,141 0 0 533
FHE £EE-ERPE 4 2,499 368(|75 & H B EAS (IR 5) TR A B SR RAT (ki) )
ZHE £EE-ERPE 4 2,499 368 REMA B 2SR HRAT URLb ) A
ZHE MEEES 10 625 392+ AT ES 54 3,030 484 32 798
ZHE HMELE 10 625 392 AEEE 51 4,272 0 0 849
ZHE MEEES 10 625 392l — Mt HEAN HETNEMR 42 890 798 120 252
BHE MEEES 10 625 392 — & FEAN HZEMEMS 78 1,785 0 0 A7 MEHREE R — N 271 0 0 420
ZHE = AR ER T 6 704 364/ ERTEMS 17 1,000 483| Bk B2 E 3L 592 449
BB |FE=AERAE 6 704 364N AEMS 14]— 0 0 469 NI Bk B B EFT NG 2,265 0 0 560
BB |FE=ARRE 6 704 364 ER A A 4,498 486 204 711
BB |FE=AERAE 6 704 364|[ X & EES KIS X 5B 17 531 486 196
ZHE = At 6 704 364N A EMSEEXED 18 1,294 0 0 427
BB |FE=AERAE 6 704 364 BETKBZE - EEEEHPER (45 1,318 0 0 497
BHME A= EEE 6 704 364|[BEETESS 22 1,190 0 0 497
ZHE R4 4 52 1,052)| B h B 6 94 144 152 2| ¥R SR 331 375 726 153 216
ZHE R=a4kE 4 52 1,052 AR B BT INIT 740 0 0 426
ZHE £EE-ERPE 4 2,499 368 ZEETEMSSREV Y — R 17,799 2,541 638 1,332
2R |2EER REGS 4 2499 368 ﬁzgsfiﬁ_ SRAT AT AR | 077 726 432
BNR  |BEE-EEPH 4 2499 368 THEAOSERRT BHTE | nm 2152 726 432
BNR  |BEE EEPH 4 2499 368 THEROSERRT RBTE | mm 1,220 726 432
ZHE £EE-ERPE 4 2,499 368 FRERAKBRRSHEN R 847 432
BHE £EE-ERPE 4 2,499 368| Xk B2IRE R R 1,261 432
ZHE £EE-ERPE 4 2,499 368| XK B 2IRE R R 1,001 432
ZHE £EE-ERPE 4 2,499 368 P XK B 2RSSR R 946 432
ZHE £EE-ERPE 4 2,499 368 BIXAE SRS HRNA R 932 432
BHE A E-EiRPAR 4 2,499 368 X K B 2R R R 1,521 432
ZHE 2EE-ERPH 4 2,499 368| BHEXKESRSHEN R 636 432
BHE £EE-ERPE 4 2,499 368| BRKBRRDERM R 530 432
ZHE £EE-ERPE 4 2,499 368 XK B IR R R 2,318 432
ZHE £EE-ERPE 4 2,499 368 ZRRAEBRRSHEN R 1,341 432
BHE £EE-ERPE 4 2,499 368| XERKBRRSHEN R 1,669 432
ZHE =R 4 694 671|[SBHEMS 58 6,951 968 459 3,120| 215k B RB SR EN AL 3,534 2,673 561 497
ZHE = mi R ERE 2 426 44— Bt A AR BT EMS 165 18,395 0 0 3,920 FEIG T ER R R SRR R 4,789 726 153 216
ZHE F=AdL R 2 486 951(|2 A% EME 25 1,469 0 0 568| ZAMEEMSKBRBNRZERFT|EM 783 0 0 568
ZHE F=AdL R 2 486 951 SHBEERE 2 KM 13,440 2,904 416 568
ZHE [EERDEIA:] 2 486 951 LS HTIREMAB R RM AL 723 0 0 568
ZHE EiRFEILE 2 513 193] —EHRBRRSHEN N 1,572 0 0 462
ZHE =R 4 694 671|[2)II T ERS 28 2,182 0 401 917|8)IThik B RE SR EN N 2,596 729 357 852
ZHE =R 4 694 671[ER T =R 20 149 0 138 355 AR IR B SR RAT s 1,389 0 0 497
ZHE =il 4 694 671||HR T ES 25 2,075 723 0 784[FR &AL
ZHE BER 7 326 208 ST EMS 4 252 0 0 19| EEHRARBERFRSEN A3 683 0 0 497
ZHE il 7 326 208(;EEREATS 12 906 0 0 497X RRLEN /33T 1,889 0 0 497
=ER LtBERE 10 842 1,109|| %4 Effis 2|— — — 350| BB TG R ZHEA N:D] 944| — 102 385
=ER LtBERE 10 842 1,109[|LVERERTR 23 216 0 0 497
=58 LtBERE 10 842 1,109 mETHESE RN s 1,696 0 0 350
=ER LtBERE 10 842 1,109 SRS DR s 5,797 726 153 648
=ER LtBERE 10 842 1,109)| 8 LU =R 30 708 726 153 513
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ﬁfﬂlg;&m% FEAKMO|tEAEDZ| B-R02 Eﬁﬁgﬁ'% TFREEO|LERDZ|B-HDZE
R SME®R (B E'Qﬁﬂf*ffaﬁ ﬁﬁfﬂj €3 ﬁﬁfﬂj €3 L AL/ KA/ (4B f;:'?ﬁﬁfﬁ ﬁﬂf*fﬁaj [€:3 B#FEE]EEFEﬁﬁ
E3:0] HEEA% prae (FMEEH) | MEsD | B&RD ® R BER) (& | MERD i)
) (B¥FE) (B¥FE) (B¥FE) ) (B5FE) (B5FE) (B5FE)
=ER  |hBPEEER 3 439 1,399 f)_rf,;,f:%{i'%‘w_'”% BT | 2,848 726 153 636
=) PP EERE 3 439 1,399 EHABKBG22HRM NI 301 0 0 420
=) PP EERE 3 439 1,399 EHIERIU=vY s 3,367 847 179 672
=ER PP EERE 3 439 1,399 BEMLRZER 3L 1,912 726 153 642
=) PP EERE 3 439 1,399 ZERTIE RERAT 3L 1,233 729 153 568
=ER BARSEERE 11 437 2,276 WIRTTA B REGC 2R A3 3,939 608 442 595
=B |mZISEERE 11 437 2.276] WESLEETY=YY ERS 5,603 1,200 0 1,254
=28 |(msEERE 11 437 2.276] FEHAE - RES SRR AL 3,681 610 128 595
=28 |(msEERE 11 437 2.276] EBRTAE -BRG2DEN AL 270 242 125 438
=58 |HgSEERE 11 437 2,276| EETK B REGSZER 7 399 292 102 345
ZER  [HENEEE 5 67 990[iE L EfS 10 721 0 0 824
ZER [mEMEHE 5 67 990] EEEME b aD B =] 509 0 0 497
HER bkl 4 348 256 E LSRR B AL 3,856 0 0 864
HER BT 4 225 728| BT ERR 18 375 507 0 0
HER BT 4 225 728 SET/\BBA B R B RA AL 3,702 0 255 715
HER FHET 4 225 728 FEIR B 2B RAT N 1,721 0 0 573
HER hES 5 154 392(|Z FEHT 8 0 0 0 0
HER R 5 154 392 EiRK B SRR Nva 889 0 0 273
HER piEld 2 149 931 EEXRABRBZHEN Nva 1,208 0 0 568
AERRT k- Z 3 4 ,599 861 RN SRR R 12,243 723 867 949
ARRT wiEdE 7 426 258 FRATARBRRSHEN A 1,249 0 0 420
RARRT k- Z 3 4 ,599 861(|Z IERS 30 286 0 0 390(|Z AR BIE 22 &R 3L 2,479 0 0 390
ARRT WwiEdE 7 426 258| WEH A B 2 IRZ R A 269 0 0 420
TARKT WwiEdE 7 426 258| J\BTH KBS 22BN AL 243 0 0 420
AT Wikt 7 426 258 REDHK BB RZSRR Nva 140 0 0 420
TARKT %) 5 123 263 HMEBLEEEAS ARKBBaRET (A1 748 0 0 280)
AT [ikas 3 130 1,144 BRI ESRZHERA Nva 617 0 0 497
TARKT & 4 87 845(L FHERS 5 1,448 0 0 426
TARKT & 4 87 845|| 5 HIERMR 10 1,068 0 0 426| = ETIKB IS 22EAM AL 276 0 0 426
AT B 3 186 1,242 BEILTAB S BDRA Nva 769 12 568
ARAT T 3 186 1,242|| BESERTS 3 3,270 0 0 1,728| EEE A B 2IRZ AT JN3L 293 0 0 364
KB AT 1.1 6 1,059 276|' ZRELEBCELRRE 2— D] 13,124 2,904 816 1,584
PN 6 1,059 276|| HEETER A3 1,185 0 0 504
PN 6 1,059 276|| it S AK B RSB AL 1,218 0 0 426
KBRAF 25 6 1,059 276|| (—§h) B ERRERE5— ABDHRT [N 1,393 0 0 438
KBRAF 25 6 1,059 276|| (—§h) B ERRERL5— FHSHRT [N 916 0 0 438
KB AT L8 6 1,059 276 WHT KB 2FEZER AL 2,909 0 0 432
KB AT =B 4 758 213 EEmIKANERREER A 679 0 0 280
KBRAF =5 4 758 213 RATRRESRL I—WBRREER [ 808 726 714 1,368
KBRAF = 4 758 213 SR EARRTREAK B IS 2B N 14,361 2,430 816 1,207
KB AT JeArm 7 1,132 177 WAETABE2RESHEN A 2,900 0 153 432
KRR AT Jeam 7 1,132 177 AR EIRBBE L 2— A 3,526 2,178 459 648
KRR AT BRI 7 1,132 177 XHHILKBRFEZENR A3 550 0 0 284
KRR AT BRI 7 1,132 177 XHEmLE-RERBSREE 2— [N 87 0 153 198
KRR AT JEiEA 7 1,132 177 SFATAE - /NEEUABIS 2B | A8 1,002 0 127 525
KRR AT JEiEA 7 1,132 177 KEMIIKE BN N1 256 0 0 324
KRR AT BRI 7 1,132 177 BT AR A — K B2 ERAR [T 264 0 0 320
KRR AT BRI 7 1,132 177 FEmREEIL 2 —2KRM A3 376 0 153 426
KRR AT BRI 7 1,132 177 BERIT I RERIL 22 RAT | A 1,004 0 0 648
KRR AT i) 3 822 129) RABRHA B 2R HRA A3 2,651 0 153 432
KRR AT i) 3 822 129 FRINDRERSREEE NS 5,595 2,892 624 864
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il 3 822 129 N\ETABRRESHEN A 571 0 0 555
il 3 822 129) AR AR N 1,795 700 572 1,235
Al 9 587 290 BHFHILIARRDRLEAN AL 268 0 0 355
Al 9 587 290 EHEMTIRBERR s 1,006 0 0 432
BAn 9 587 290) PREHI R S— (KB RBDRA) | AT 514 0 0 347
RGN AL REC T I—
Rl 9 587 290 f\wmt“r&;"iﬁ/l\ﬁé RRRE |21 819 0 200 280
Al 9 587 290| ANEFHILREE 42— N 600 0 150 350
BN 9 587 290 AR EMS R 55 0 0 198
Al 9 587 290 WREMNSRERR R 6,423 3,612 1,224 1,344
BN 9 587 290| A NERAENERRSREE | AW 4,531 2,904 816 1,656
il 1 822 150 RHCELRRDREVS— D] 10,535 1,928 550 1,258
i) 1 817 150) RRLBRFLERL 2 — A 2,222 0 150 648
R 12 877 445 SR/ N RABR R EE 2 — A5 5,953 0 255 792
R 12 877 445 BRAMIEEL E— A 871 0 0 432
R 12 877 445 BEMIKRBREZER AL 373 0 0 360
R 12 877 445 SRMESIHARF 2 — 3L 2,262 147 153 426
PN ] 5 697 49 HEKRBRRSEN N 1,498 0 0 504
ABrdLER 5 697 49 +=KBRRZEM A3 931 0 0 504
KBRS 6 488 61 SRk BRRSER 3L 25,313 1,936 765 936
KBRS 6 488 61 BAFZKBRRESHEN AL 1,411 0 0 504
ABRHRE 7 760 48 SEKRBRRSEM 3L 1,559 0 0 504
ABRmEER 6 805 68 DR B RRSER 3L 2,966 726 0 504
pN L 6 805 68 RZBIAEHEFD HFJ'T AL 2,203 0 0 504
HWEERE 1 1,508 557 HWETEMRSRZRN NS 4,907 729 306 994
HWEERE 1 1,508 557, #$F'FHEEEAE§“MB JRERAT |8 938 0 0 568
HWEERE 1 1,508 557, HETEMRAEAESRZERN |28 3,707 0 0 568
HWEERE 1 1,508 557, HETMEMRILEAESRZERN |28 519 0 0 568
HWEERE 1 1,508 557 HWECELMHRF 2 — A 14,079 2,662 816 1,584
et 5 709 481 FRTRBGEZHERM AL 538 0 147 444
et 5 709 481 EFNMKBGREER AL 299 0 0 223
et 5 709 481 G =Y -3 N 158 0 0 426
et 5 709 481 SHTRBERAZERE S — s 2,794 0 0 504
i) 3 721 168||BIATH EETR 0 0 0 g%glé)&gﬁﬁ.&%%ﬁ#l% ] 10,205 2,178 714 1,512
k] 3 721 168||FTE = T ERTR 25 9,881 16,954 4,152 7,248|FEE TG 2 ZEA 331 4,658 666 319 792
R 3 721 16| E BT EMS 23 2,904 612 864| EEMIABIG 2B R 3L 745 0 0 576
RIBE 5 712 266|BRETHEMS 32 1,241 0 568| BAH h I ¢k B IS 2 32 AR AR AL 6,770 2,187 459 1,278
RIBE 5 712 266|075 EiS 26 2,051 0 639| HIFUFHREKR B RZE L2 | A0 7,103 2,178 459 936
B 5 712 266| R THEMS 16 3,263 0 657
JtiBE 6 259 896\ 2 T REMS FHZAAERE L 4 — B/ 158 408
JHigEE 6 259 896|/N G- MR EMS 33 204 1,160
JEE 6 259 896|[ AT EMS 18 0 568
JLiBEE 6 259 896[| =AM EfIR 51 1,274 0 1,015
PR 4 566 865 ERTARE -RESFE 52— s 14,288 2,196 459 1,260
PR 4 566 865|[fIE Bl =A< 19 1,099 0 576
FEIBEE 7 249 1.567|[f8 4 T ERS 12
FEIBEE 7 249 1,567|| i H EMS 25 0 504
FEIBEE 7 249 1,567||FRIBEBEMS 8 0 384 576
FaEE 7 249 1,56 7| R EMS 20 840
FEIBEE 7 249 1,567(|1= AR ERTS 8 584
FEIBEE 7 249 1,567 BEABRESREL S— A 1,263 840
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FHERR | zaumo| tRa0B| B-R08 FHEER | zammo| 1A 0| 8- RoBR
Ath SMER (R SRS | BRI (4 | BRI (5 e NI/ A/ (HERE BB | R (F B#FEEKEF‘?A
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(R) (B¥FE) (B¥FE) (B¥FE) ) (B5FE) (B5FE) (B#F‘i)
EER 85 1 76 698| LREmIKA RS EN AL 457 490)
EER FifaR =N 4 78 1,436 Rk B 2B 3L 215 7 406
EER FHE 2 99 870] FHERBELTA B BT N 1,448 0 0 461
EFER FHR 2 99 870 FHEMRBIS 22 R s 697 0 0 543
EER WERERE 3 125 596 MATIE 2 EAT 3L 1,899 976 204 770
EEE  [RBRERE 3 125 596][ AhbLTRBER2 BB AL 667 0 0 792
EEE | RBERE 3 125 596 RETAB S22 RN N 286 0 0 700)
ZRE ZRERE 1 352 276 ZRMRHERREG 2R N 4,214 1,936 612 1,152
=WEEIEE N EXT A AT
=RE BEHERE 9 336 168 "— R 3877 1,936 714 1,440
4k O ZERALE & 20 RS ol
ZRE RIERE 9 195 657 KEMIKBE BN s 359 0 0 426
ZRE BEHERE 9 336 168 AFE LR B ISR RR AL 550 0 0 648
ZRE BEHERE 9 336 168 =EKRAGRZEN A 1,868 0 0 644
ZRE PHIERE 8 364 240 ERTA BREG 2B AL 4,877 2,057 434 1,368
ZRE FHERE 9 195 657 Tk BREE 22BN A3 316 98 0 568
ZRE FHERE 9 195 657, WK B G R2EM AL 251 0 0 432
ZRE PHERE 8 364 240 By XK B 2R 3L 2,153 0 0 576
ZRE HPEIEARE 8 364 240 AT B IS 2 EA N 166 0 0 360)
ZRE AHERE 12 62 2,346) FHiEHIS DB s 268 0 200 292
ZRE HERE 12 62 2,346[| BIEH =R 13 328 0 0 511
LR | FnFRl 3 408 438|[ERERT R 23 589 0 0 504|fIILTREK BISREZ RV E— |21 8,898 2,420 561 1,218
MILE |HE 2 112 267, BEKBDBZEM A3 561 0 0 566
MILE |BK 4 82 463 FEth AR BB AL 607 0 12 497
MILE |HHA 4 68 475 AFHMAKBRBZER A 206 0 0 355
MG | 7 59 579 g '(%UET:EE\%—@%TW* RREPR N2 302 0 0 432
PR |AD 4 118 1,580 HIIEEABAE2EN A 2,390 0 153 426
MILE = 6 60 922|[Fi = T =S 13 791 0 0 552
SmRE REHREERE 5 222 1,518 REEMSSB2HRM R 7,461 726 147 803
SmRE PR ERE 5 98 781 FEMAE S BEERM R 573 0 0 690
SmRE FEHREERE 9 227 1,208 EHEMSSB2RM R 1,790 726 153 926
SmRE TR EERE 9 227 1,208] BB EAEIS 2R R 173 0 0 379
SiRE T 2 237 994 KRBEMEZHEE KT A 645 0 0 490)
BiRE [T 2 237 994|[ZEHEMS 18 489 0 0 1,587
SiRE = 3 51 1,164 EETHAADE AT 27 0 0 40|
I 3 51 1,164[EFEMS (=% J0v%) 6 357 0 0 576
BiRE S 1 172 624/ HERR - REDER 7 1,606 488 0 385
BiRE [xm= 4 49 1244 KETHESS 10 260 0 0 112
SiRE XH 4 49 1,244|| B EEMEMS 12 205 0 0 852
BRE JEH 2 75 959 ERATKRBE RS ER N 397 0 0 340
SiRE #5H 3 56 1,377 EH T EAR 11 423 0 0 144
SiRE M 3 56 1,377 HEATIKBE RN N 177 0 0 136
BiRE =3 4 19 346| SR EMR 3 0 0 864
eiRE  [mEs 4 19 46| BHTIERS 3 527 3,516 0 1,728
FE L2 BRIRED 7 906 1,907|[FE LT A& 61 1,828 0 0 576| LT ik B ZE S B2 EAN A 3,352 605 128 252
EMCEEEESS 7 906 1,907||[BERFES 22 1,228 0 0 576
EMCEEEESS 7 906 1L907|EHHEMS 29 1,694 0 0 560
R LI R RIRAD 7 906 1,072 ERRS 41 1,308 0 0 576
FE L8 BERE 7 909 1,907|| FEERS 36 2,294 0 0 576
FE L8 BERE 7 906 1,907||F IR BRI 20 1,360 0 0 576
FE L8 BERE 7 906 1,907|| B A Effis 18 1,444 0 0 576
FE L8 BERE 7 906 1,907| LR B EMS 17 833 0 0 488
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EfRA HEEA% prae (FMEEH) | MEsD | B&RD ® RE BER) (EE&D | M&ED =)
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FE L2 BERE 7 906 1,907|| BB EERS 28 1,097 0 0 400
FE LR BRI 8 691 1,125| B BERS 85 1,020 0 0 528 BB RESE L S— D] 3,476 484 102 677
BN 8 691 1125 R B EMS 30 2,653 586 102 720
ENE 8 691 1,125 EBEMS 37 1,059 586 102 720
BN 8 691 1,125\ FEMS 25 2471 0 0 576
ENE 8 691 1,125\ EEMS 18 3,061 0 0 576
ELE  [EmEs 8 691 1,125 E REMS 34 2,843 192 0 576
ENE 8 691 11252 O EfS 17 1,039 0 0 448
EMCEEEE T 2 55 1,340 B 2 EMS 17 0 0 576
ELE [E2-HRE 2 55 1.340[5 R ERS 4 1,118 0 0 476|F Rk B - ERER BT Nl 108 0 0 168
ELE  [EE 2 42 T B 29 2,259 0 0 576
RLE  [Fl-%E 8 170 18482 ILTTELTS 32 9,736 1,220 250 923
RLE  [Fl-%E 8 170 1,848/ AR ES 9 595 0 0 576
BWE  [EL-%A 3 170 1,848[5 BB EE B S 6 933 0 0 576
RLE  [Fl-%E 8 170 1,848\ EEHEMS 7 435 0 0 576
EIE EEET 3 170 1,848|| A KBS EER 5 311 0 0 256
LBE LB RERE 15 1,361 2507(|/EEHEMS 593 24,753 8,190
LBE LB RERE 15 1,361 2,507||RIEERS 242 16,517 3,924
LBE LB RERE 15 1,361 2507|REHKERMS 45 1,403 594
LBE LS RERE 15 1,361 2,507 LETEMSTHNRERFEE 2—|RE 7,391 847 179 238
LBE LB RERE 15 1,361 2,507 REEMSARRESRE L S— |RE 722 847 179 7
LBE LB RERE 15 1,361 2,507||lLIR BRERT R 14|— 0 0 576
LBE LB RERE 15 1,361 2507 R=EEATEMS 18 1,218 0 0 657
LBE LB RERE 15 1,361 2,507 SHEMEK B RERDZER A 413 3,388 791 1,116
LE52 ]l 3 508 1,0906|[48 LU E A 93 9,850 0 0 1,952
GEE [Er T —XER 3 508 1,006[[1s K BB RES 29 2,351 0 0 1,136
LE52 T TR o — 2R 3 508 1,006]REH R EMHS 25 1,862 0 0 560
LEER =T — RIS 3 508 1,096 BILRERA B ER A 4,034 847 179 252
LEE 3 508 1,096 BRI E/NR SRR NG 4,672 908 192 270
LBE 3 508 1,096\ it X EE AR &= 4 5,185 2,368
LE5R 2 211 455| S HERMS 17 307
LBE 2 211 455 EffSKARB L E— R 2,610
LBE 2 211 455 EHEMRAOBRRELLS— R 395
LBE 2 211 455| R =R EMS (BiX) 8 81
LBE 2 211 455 R =R EMS CIHSH) 4 149 184
LBE S RERE 2 211 455 AR ERs CIHSH) 9 611 0 0 427
LBE LEA-XRERE 2 143 568(| K ES 3 102 126
LBE LEA-XRERE 2 143 568l At X EME 43 3,424 0 0 540
LE5R LEA-XRERE 2 143 568 KTk BB NIT 383 497
LBE LEA-XRERE 2 143 568 HETREREREL S — A 2,542 729 153 923
LBE LEPRZRERE 3 213 9L R ERS 28 2,247 1,446 208 252
LBE LEPRZRERE 3 213 797|117 R X EET R 2 610 0 0 666
LBE LEEhRZRERE 3 213 197||ERRSBEME 1 45 0 0 315
LBE LEPRZRERE 3 213 797|| 2 MEEMR 5 358 0 0 288
LBE LEPRZRERE 3 213 797 RISk B2&EM 3L 1,981 252 0 490
LE5R LEEhRZRERE 3 213 797 R B R INTT 207 0 0 432
LBE 3 240 1,034||BEHEMS 52 5,203 0 0 1,728
LEE 3 240 1,034 EBES 1 363 0 0 468
LEE 3 240 1,034|=EHEMS 3 350 0 0 576
LEE 3 240 1,034 BRERS=RHEMS 10 522 0 0 576
LEE 3 240 1,034|=EHEMS 2 0 0 84
LE5E 3 240 1,034 EEHIRERRASER 3L 1,454 726 153 216
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LBE B RERE 3 240 1,034 ZRTEMRKBRESBZEN |[RE 843 972 1,224 1,704
LBE Bt RERE 2 82 2,025 SRR BEERRE L — 3L 1,267 960 208 584
LBE R - RERE 2 82 2,025 EEMKBZRE 53— NIT 198 568
LBE fEdt Z REHE 2 82 2,025||FER 1 ERT R (R XER) 4 486 472
wog EEERE 2 132 884 EETHEMS 14 483 0 0 496| BETERLLI—ERMSHERERA L 1| A8 3,555 726 153 936
wog EEERE 2 132 884||FA I EATIS 20 180 0 0 52
wog HHERE 5 72 398 KSR ES 7 375 0 0 576| 1k H RS 2B 3L 1,544 726 0 500
wog AEERE 3 240 838||#E ILERS 5 622 0 0 0|k BB 2 mS BN 3L 1,856 732 153 700
wog ArEERE 3 240 838 THAEETR 18 557 0 0 497| FHATIK B BT 3L 727 0 0 497
wog ArEERE 3 240 838 Sk B2 R 3L 865 0 0 568
wog WO - ERE 3 316 1,213[ L O ERfS 52 5,709 0 0 639| LA™k H - RESHZ B s 2,508 726 150 219
Wwog  (wo-pRERE 3 316 1,213[EEEMS 31 2778 0 153 648
wog WO - ERE 3 316 1,213 EA R 19 1,048 0 0 O|BhRF 4K B 32 FT s 1,833 0 0 511
wog WO - ERE 3 316 1,213|| =4 BB EM S 3 36 0 0 144
wog FE-/NEFHERE 3 231 892||F AT EAS 9 1,012 0 0 216| FAR MK H - REK DB A 6,266 921 250 803
wog FE -/ NEFHERE 3 231 892 lLIf5/NEFH ERTR 37 1,311 0 0 994| LI/ N AT AR EMN AL 963 844 0 490)
WOg (=8 EFEERE 3 231 892 EMTHEMS 9 2,062 0 0 416
wog THERE 1 250 716 FATEMS 187 12,265 0 0 511 | FE T REI SRS RN N 4,963 964 204 288
wwng  [EMERE 1 32 357 [RLn=t% 0 A 931 729 0 497
Woe  [RERE 2 47 814|[FHEMS 24 504 973 510 360| Btk H R ERE L 4— /33 1,205 0 0 923
EEE |HHERE 4 281 436][ BERMAE RS EN S 7,731 729 156 805
mEE B ERE 4 281 EEHEMS EHLTLEN
mEE I EEE 4 281 EHELTOEN
wEE |HHIERE 4 281 436|[ R BENELTS 19 1,009 0 0 560
HEE |[RHIEHRE 6 150 246|IBFITHEES 37 968 204 936
HEE |[RHIEHRE 6 150 246\ R B EHEMS 62 1,115 980 204 397
HEE |[RHIEHRE 2 72 335|| = B HELTS 35 968 204 792
mEE RN ERE 2 72 335|(FA K T ERS 20 642 984 208 871
BER AR 1 ERE 5 116 1,199 FIE TR A B 2 BT s 711 268 112 506
mEE i ERE 5 116 1199/ MBS T ERR 21 566
mEE i ERE 5 116 1,199||BT I T E A 35 1,606 972 208 910
mEE i I ERE 3 17 525(E BB EAT S 14 1,450 783 208 552
mEE s [ ERE 2 34 562| X EHELMS 24 1,326 968 459 1,512
EEE D I EfRE 2 36 844|[= sF T ERTS 19 1,273 1,452 306 1,008
FNE REERE 5 523 77| KR R ERE 44 1,956 1,120
FIE REERE 5 523 TTIERTHEMS 140 17,860 630| BT RERFLE A 6,347 968 204 288
FNE REERE 5 523 77| K EHi X ERE 30 2,072 693
FIE NEERE 2 27 170/ = BB E AT 7 1,131 560
FNE FEERE 10 404 930|[k i T EhTS 34 5,334 560
FNE FEERE 10 404 930 A T ERS 56 3,937 1,152
FNE FEERE 10 404 930||#EFrith X EEI = 43 2,188 827
FIE AR ERE 10 404 930[fh ZEAR- EBFHEMS 54 3,538 560
FIE AR 10 404 930|=2 - REFHEMS 52 2,711 1,252
BIER FE 1 80 21| FEEMS 29 2,563 0 0 63| MEFRTRABRERELY— N1 418 726 153 3
BRRE FEE-FAE 2 216 T44{F EIETH ERR 16 732 FEETEMSNA/IREARE 2 |RH 3,154
BRRE FEE-FAE 2 216 744l E T EMS 8 5,343 2,684 561 1,050 E%W*Elﬁﬁaﬁ.%,%t‘/&— 3L 3,588 726 150 544
BIER Sia 2 153 450[[4 AT ERS AR T RARK B RSB 54—
BIER LTI 6 631 1,541 L TH RS ff W REERtEV Y — N1 5,780 2,662 561 792
BRRE ¥ 6 631 1,541 |2 L TH E RS WL ERR Sk B 28 R 4,666 552
BIER P 6 631 1,541(|BEH EMS 20 1,653 0 0 718
BIER P 6 631 1,541 F Effis 33 431 0 0 396
BIER ¥ 6 631 1,541|| LiFABEME 6 548 960 256
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BRRE I\ - KM 5 126 1473(EZEME ANEZKRBRESEL 52— R 578 621 132 679
ZIER I\ - KM 5 126 1,473||/\ 1B EEMS 4 477 36 0 120 #Eg%gg#%ﬁﬂﬁ—m&% 3] 956 696 153 560
BRI |/\EE- AN 5 126 1473\ EFHEMS 15 1,662 1,050
BiEE  |FHE 4 99 1,047|[FRBEMS 40 1,240
BER |FHS 4 99 1047|[FF BB ELTS 9 1,186
SR RERBERE 9 42 1,12| RERBEMS 11 1,165 504
SR P RRBERE 14 509 3,089 &1 ERT R BATAERESEL S — A 4,779 876 600 770
SR P RRBERE 14 509 3089|EERMERMR 37 994
SR P RRBERE 14 509 3,089 L REAERTR 23 786
SR P RRBERE 14 509 3,089 E I BRERT R 15 803
=S SR REERE 5 48 1,405(%5 FF 28 E A 5
=08 18 2 RIEERE 6 77 1,562||1E £ =A< 25 2,452 560
= BE-RS 2 1,719 558([E R E S 20 15,763 1,728
= e BE-RS 2 1,719 558 ERTISEZEREVY— 3L 39,100 2,808 765 1,610
= e BE-RS 2 1,719 558 tERE I RS B N 183 0 0 588
= e BE-RS 2 1,719 558 B mIE S DB Rm A3 55 0 0 528
= e BE-RS 2 1,719 558 43 T 3L S R R N 178 0 0 588
= e BE-RS 2 1,719 558 EEmIIES RS EN A3 85 0 0 528
= e BE-RS 2 1,719 558 BRI AR RS EN AL 104 0 0 588
= e BE-RS 2 1,719 558 RETHKRE -RESELV 52— s 6,807 2,680 724 1,541
= e FHE 8 292 207|[fABERTR 4 1,540 1,058
fEEE HE 8 292 207 FEPEEA B 2R N 829 0 0 511
= e =& 2 164 172G EME 19 994 0 0 576
= =& 2 164 172) RgMERIE I E— A 5,145 2,565 774 1,677
= T 5 440 233 FREEMR 122 2,869 0 0 592
= HE 3 80 366[|FAREMS 43 1,026 0 0 576
= HE 3 80 366 FRBEBABRESE L S — R 6,811 2,662 1,045 1,584
= ABX 6 448 A2ABRERS 190 23,320 4,032
= ABK 6 448 472/ NER = HEETR 25 1,169
= e ABX 6 448 472 PEMR 32 1,755 0 0 576
= e ABK 6 448 472| K)I = R ERS 46 5,845
= e A8 3 206 264|[#0)1ILFERTS 73 2,348 568
w#AE |58 3 206 264X % BEMS 105 8,409 8,409
BEE  |N\&-#HiE 3 128 562|/\ X H ik EME 88 2,788 576
BEE  |8RF 3 171 369|BRIZES 110 7,165 0 0 552
EREE  |8RIF 3 171 369 BEREEE F— AN 966 486 204 298
BER |ES-BF 4 102 22| BEASFEHS 77 4,018 2,187
2R EA-#BF 4 102 222| Egg;g%ﬂaﬁr_ﬁ%}%ﬁe ] 667 250 557
= Il 8 114 364||H) I EAi< 3 75 576
= Il 8 114 364 AI#XSE L 2— 2331 3,509 729 250 936
=g e A 6 1,054 599 RE-KBRELVS— 3L 8,727 964 200 986
2 E e A 6 1,054 599 F2RE-KERE L S— 3L 5,132 972 200 1,044
2 E e A 6 1,054 599 Sk B2 BZER A3 377 0 0 560
2 E e A 6 1,054 599 EMKA 2B EM AT 457 0 0 560)
= e mE 7 180 566 THRREBKE -RESELVS— |2 1,999 561 275 1,163
2R RE 7 180 566 LEKRAAE LI~ D] 1,236 0 0 840
EBER PEHERE 5 342 193|IEETELS 116 8,915 0 0 o[iEE A BERBCELEZEM A 7,262 486 255 552
EBER PEHERE 5 342 7193|| M AEA R 27 2,691 0 0 576| AR R 1,907
EBE e E] 5 342 793(|Z ANBERR 31 1,750
EBE FEERE 4 126 159)|SHE=REEMS 18 1,060 0 0 552 BEmA BB ER L 4— A 1,774 0 0 700
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FEERE 2 21(|FHE - FHBREMS 5 70 0 0 SO|F P ENKA KRS ERtY— |5 602 488 560)
R ERE 7 147 644/ B it X ERTS 28 657 560 Kt RIAB 2B 5— A 1,302 560
mHERE 7 147 64| EBEZREMS 25 1,541 0 0 2208 EEBHRECELY =Y 23 880 0 552
R ERE 7 147 644|E%§5$t&|2%&ﬁ% 13 23 104 0 O|ESHRENCELIY=YY D] 61 104 0
RIGERE 4 495 697|— Bt EEAN RBTHEMS 301 12,673 0 0 3150| RIGHEMAE L E— A 5,313 2,662 572 737
RIBERE 4 495 697|[ BRI ESS 65 2214 0 0 1,608
EHREILERE 4 300 824|[fE it R EETS 21 2,230 0 0 140 R I2RESHRAT N 4,340 732 153 490)
ettt R 12 4k E AR 4 300 824 FRHEMS 6 784 576
EHEREEERE 4 300 s24|[ it EES 19 260 0 0 960
BRERE 5 263 626|[FREERR 96 8,406 0 0 HRENCELERDE L S— N3 1,383 726 153 216
BRERE 5 263 626 KA T ERIS 69 3,746 0 0 576| AM T RENHZEL2— s 1,588 723 156 216
BRERE 5 263 626|[ R EBERT R 24 729 0 0 568
BREERE 3 123 467 SR T ES 27 1,341 | RIBR SRMHRE CMNERD H) 370 1,196
RRERE 3 123 467||F = EAS 56 962 0 0 1,104
ISERE 1 420||E B EME 14 654 0 0 432
Sk ERE 1 139(|%5 I EE AR & 11 543 504
BEART R 9 912 1,114||BE AT ERS 808 28,894 0 0 648 ?;ﬁkﬂ;‘égﬂggi%jgg/ Ea NG| 11,906 3,402 714 1,584
REARR 9 912 1,114|EAEMS 18 1,406 0 0 552
REARR 9 912 114 FEREERS 38 3,239 0 0 1,384
REARR 9 912 L4 FtREMS 26 3,323 0 0 1,680
REARfR 9 912 1,1 14|l gRER e = S (B RAT) [ESE 0 0 49
REARP R 9 912 1,1 14| EHBBERS (AT RBRERE) 36| B4 N 1,584
FH 6 150 LUFTETEMS 34 2,056 0 0 490
AHER 6 150 21| EBBHEMS 52 3,292 0 0 1,680
BX 1 300 EARERS 33 3,115 0 0 496
it 4 188 467\ F BT EMS 106] R84 0 0 2.104
B 6 1,002|[F g5 BB i EEER = (P8 AT ERR <) 23| R 88 0 0 1,400
\LIER 1 545\ L SMEBEMS (LARSERE) HESE] FBR 432
I\ 2 131 115\ R T ES 63 4,885 0 0 560
I\ 2 131 15|/ \ KR BB ERTS 21 1,147 0 0 560
KIREL 3 431|[KIRTE L BB EATS 29 1,363 0 0 576
AEERE 10 1,537|(A ST EME 34 1,482 0 0 1,144
AEERE 10 1.537|BRERRELT R 24 1,777 0 0 1,264
XE 3 104 878|[XE AT ELS 48| B4 0 0 3,688
AR 5 195 804|E R EMS 18
Ea 5 195 804|BIFHEMS 23 42 0 0 1,088 BIFF T E S i Rigt4— |RM 83 984 204 272
HER 5 195 804[iE R AR E T EMS 34 0 0 1,680
th & 4 556 1192| KN HEMS 143
PR 4 556 1192/ KN EEMS 19 1,474 1,364 280 680
PR 4 556 1,192| K BB =R R 87 1,552 340 2,091
PR 4 556 1192|F¥H EMS 16 929 960 225
PR 4 556 1,192/ ZAR T ERMR 10 2,054 1,205 255 986
[k 1 Llok] R E3NES 30 605 0 0 528
Zie 2 1,081 EH ES 15 730 732 408 840
Zie 2 1,081|| B XEFHEMS 25 0 0 0 544
i 3 1,224|HEHTEMS 21 3,750 729 150 792
il 3 1,224 A BB ERTS 12 1,259
b4 3 156 1,137 PEHEMS 37 2,385 0 0 1,225
41 3 156 113712 EHT EMR 9 1,097 0 0 568
plA:i 3 156 1137 FIEH EMS 40 4,754 0 0 1,752
FEE 7B 4 134 1,555||FAEIF AR ERT = 0 0 0 0 0




RS ER A
XERELNEROADHZEFRERI RS

HEELEER HRERMEEE 42—
HRERFIR S An [
4 ZRERES TR ETR FL (k) __ :
ﬁfﬂlg;&m% FEAKMO|tEAEDZ| B-R02 EFEE?% TFREEO|LERDZ|B-HDZE
R SME®R (B E'Qﬁﬂf*ffaﬁ ﬁﬁfﬂj(iﬁ ﬁﬁfﬂj(iﬁ L AL/ KA/ (4B ?’/\ﬁﬁfﬁ ﬁﬁﬁa’j(ﬁ B%FEE]EEFEﬁﬁ
EfRA HEEA% prae (FMEEH) | MEsD | B&RD ® R BER) (FHE&E) | E&ED) i)
(R) (B¥FE) (B¥FE) (B¥FE) ) (B5FE) (B5FE) (B5FE)
EIFE S [E 75 EI 45 4 134 1,555\ EFE T E A 50 8,608 0 0 568 R REISR 2 — 331 7,062 1,712 612 302
=2 A A 5 84 1,631 AT R RBEMS 44 4,748 0 0 2,276| AT MR LB IAIL 208 484 0 0
EIFE RS 7 94 1,154|| R iz ER< 34 6,211 0 0 576|EMESER L I—RESF LY E—| AT 2,049 968 204 288
=g RS 7 94 1,154||FaER T G R S EM R 16 763 0 0 576
=g EIBRES 3 425 869(| = I T ARE AT 301 28,711 0 0 568| IR/ 2—REISE R 6,769 2,904 612 864
=igE EIBRES 3 425 869 EBTRESF LV S—NEER A3 4,606 2,904 612 864
EIFE EEED] 2 66 831||FE A E =R 43 2,265 0 0 560| AEmAHRE AR 42— AL 759 726 153 216
EIFE L2 2 184 763|ER M L2 R A=A 118 15,458 0 0 657 | MBERBEF L F— 3L 10,224 2,892 612 876
=2 ik 3 68 931(|FEEEE RS 47 2,786 0 0 560| P 5 ERT R B S DURS BRG] |21 79 705 0 0
EREE |BRS 5 648 1,045(|EE 'R B ERMR 265 25,612 0 9 612 EREHRESREVY— /N3L 7,708 2,952 612 884
EREE |ERE 5 648 1,045| B BHES 30 2,462 0 0 1,152
EREE |BRS 5 648 1,045V 6 E B ARF T EMS 18 1,943 488 100 674
EREE @& 4 132 865|[1ETEERTR 20 1,702 720
ERSE @& 4 132 865|[FLiE T EhS 17 1,045 1,074
EREE @& 4 132 865(|FiEERS 47 2,806 0 0 576
BREE | 2 144 1,067[)) AT EME 34 4,503 0 0 2,052
EREE | 2 144 1,067|[EEBESS 28 803 1,968 416 544
BEREE |HK 3 84 580][H K EREETS 49 6,423 2,376 BERM— RUABRE (H2.11 K CHFR)
EREE |WBR-FE 2 237 1,371 B ith X EEF R 132 10,193 0 0 3,796
EREE |WBR-FE 2 237 1,371||[HEH EMS 14 1,544 0 0 576
BEREE |8R 3 79 889[|EMEMS 33 3,660 0 0 1,703| B EMEBRH2Rm 2 — R 505 2,904 612 864
BEREE |HE 6 154 1,234\ EETHEMS 31 8,120 0 0 684| KIRLBRE SR U5 — 2N 3,832 2,952 624 804
EREE [FHRE 6 154 1,234 BB EMS 12 142 688
EREE [FHE 6 154 1,234 BRBES 15 148 364
EREE |EE 4 42 094|[AEE R ELME 5 198 68
BRESE |&Ex 12 107 1,240(| K SEBES 12 2,175 0 0 552
SRR
it 22,288 1,377,276 174,936 48,478 451,662 1,356,582 330,448 87,025 310,400




